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All Questions Carry Equal Marks

What are the various objectives of preliminary survey for highway alignment‘7 Enumerate

the detalls to be co{lected and the vanous steps in thc conventlonal method """ []5] P
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""Bneﬂy outlme the main features of vatiotis road’ pattems commonly in tme Explam wnh'

sketches the star and grid pattern. [15]

Explain the role of pavement surface characteristics in highway geometrics design. State
the factors affecting friction between pavements and tyre of vehicles?

Derive.an expression for super elevation while a vehlcle is negotjatmg on a horlzoma]..
curve Explam the de51gn steps mvolved in. lt IANT JAYE [7+8] '
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Enumerate the various de5|gn factors controllmg the vertlcal allgnment of highways

Calculate the length of transition curve for a design speed of 80kmph at horizontal curve of
radius 300m in a rural area. Assume suitable data. [7+8]

[15]

d1 agrams‘?

Explam the parameters “which character:ze traﬁ" ic ﬂow? Wlth neat sketches e[aborate how'm

they are related.

At a right angled intersection of two roads, Road ‘1’ has four lanes with a total width of
12.0 m and Road *2’ has two lanes with a total width of 6.6m. the volume of traffic
approaching the intersection during design hour are 950 and 843 PCU / hour on the two

approaches of Road 1-and 378 and 180 PCU /hour onthe two approaches of Read 2.
J_Deszgn the sngnaulmmgs as per lRC gmde!mes ____:im..i\.._‘_‘ L e S W [7+81

Explain the advantageous and disadvantageous of rotary. Elaborate the design elements
involved for estimation of capacity of it. [15]

Calculate the stresses at interior, edge and corner regions of a concrete pavement using
Westergaard’s stress equation for the following data; ...

Wheel load = 4100 kg, Modulus/of elasticity of concrete =33 % 10’ kg/cm Pavement
/thickness” = 30¢m,  Modulus of subsgrade reaction "= 8k§:§/cm':4 Diameter of loaded..

area = 25cm, Poisson’s ratio of concrete = 0.15. Assume data if any data required.
Draw a sketch of flexible pavement cross section and show the component parts.
Enumerate the function and importance of each component of the pavement. [7+8]




